BASORFIX

3EBasor

CABLE TRAY SPECIALIST

41/82
K41
Qreac  Pap i304 i316
ke Nm [T R kgd  REE kg

| 700 | 40 | 2622 | 08 |2n8082| 080 |218101] 082

2 x DIN933 M10X30 (2/1754 -i304 / 2/17600-1316)) + 2 x TM41 M10 (2/17584 -GC /
2/18525-1304 / 2/17612-1316))

© ~

108

?
H 50 |25

80

45,

K82
Qreac  Pap i304 i316
kg Nem REF kgud  REE  kgud

K82 | 1100 | 40 | 2m574 | 144 |2ns0s3| 142 |ongio2| 142

4 x DIN933 M10X30 (2/17547-i304 / 2/17600-i316)) + 4 x TM41 M10 (2/17584 -GC /
2/18525-1304 / 2/17612-1316))

(T

108

93

0¥
B IE
180 JZJ* '
K82ME
Qreac  Pap i304 i316
ke Nm [T R kgud  REE kgl
K82ME | 1100 | 40 | 27020 | 157 |2nsos4| 156 |218103] 142 Joee s
= < 1o
Ix @ + @ + % 2X0INGZ3 M10(G0 (217547304 / 17600316 + 25 THAL M1 g % =5 1° 1,
(2/17584 -GC | 2/18525-1304 / 2/17612-1316)) +2/50 x B3 (2/8827-GC / 2/12096-1304 / 2/15575-1316) il

2X @ ’ 4 x DIN933 M10X30 (2/17547-i304 / 2/17600-316)) + 4 x TMA1 M10 (2/17584 -GC /
2/18525-1304 / 2/17612-1316))

SBLA4I1

Qreac Pap e GS c]e i304 i316

kg Nmomm JEEIETANGEIETEN ReE kgud  REE kg
sBL41 [600| 40 | 4 |27058] 0,40 | 206472 | 044 | 2118085 | 040 |2018104| 040

) 2 x DIN933 M10X30 ((2/17559-EZ / 2/17547-1304 / 2/17600-316)) + 2 x TM41 M10 (2/17551-
EZ | 2/17584-GC / 2/18525-1304 / 2/17612-1316))

o

@ ’ 2150 x B3 (2/8827-GC / 2/12096-1304 / 2/15575-1316)

Qreac

104

¥
)|
~N
0 | 40
(=]
)
Bl _
‘U‘[ 25X11 25X11 .Ig
— 25X11 <
¢ o 1= =
[ o =]
ellaa | [ | 20 Z
132 (==]

1





